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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)
(ii)
(iii)

This Question paper contains 38 questions. All questions are compulsory.
Question paper is divided into FIVE Sections — Section A, B, C, D and E.
In Section A — Question Number 1 to 18 are Multiple Choice Questions

(MCQs) and Question Number 19 & 20 are Assertion-Reason based
questions of 1 mark each.

(iv)

type questions, carrying 2 marks each.

(v)

questions, carrying 3 marks each.

(vt)

questions, carrying 5 marks each.

In Section B — Question Number 21 to 25 are Very Short Answer (VSA)
In Section C — Question Number 26 to 31 are Short Answer (SA) type

In Section D — Question Number 32 to 35 are Long Answer (LA) type

(vit) In Section E — Question Number 36 to 38 are case study based questions,
carrying 4 marks each.

(viii) There is no overall choice. However, an internal choice has been provided
in 2 questions in Section — B, 3 questions in Section — C, 2 questions in
Section — D and 2 questions in Section — E.

(ix) Use of calculator is NOT allowed.

each.
1. IfA=

(A)

(©)
65/1/1

-1
0

0
1

SECTION - A
This section comprises of 20 Multiple Choice Questions (MCQs) of 1 mark

0
0|, then A lis
1
0 _
0 (B)
-1 I
0 _
0 (D)
1 -
Page 3 of 24
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0 -1 0
0 0 -1
-1 0 0
0 1 0
0 0 1
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9. uewRma =31 +2] —kamaART b =i — + k &, & e 1 A B @ @@

- - - >
A allb B) alb
© 1bl>]al M | al=15b|
“lxl
3. 2 dx,x¢0;E|TIE|T%:
X
-1
@ -1 B) 0
©) 1 D) 2
4. TEUEHE A o TA y H Th FHETI B T & ?
A) y*-—uxy (B) x-—3y
© sinz2¥iY (D) tanx—secy
X X

5. ARfw)=|x|+|x—1 |8 AfEdiasmaada?
(A) x =0T x =1 W f(x) Had aAT JTTHATT 2 |
(B) x=0dYU x =1 W f(x) STHeHT g T~ Had T2l @ |
(C) x=07qYU x =1 f(x) Had & T STTheH T &l 3 |
(D) x=0dqATx = 1R f(x) 7 qI Tad & 3 7 & ETha13 2 |

6. dfg A IR 2 TH T 1 R & FSEeh 7T det (A) = 4 8, a1 det (4 adj A) SR
2

A) 16 (B) 64
(C) 256 D) 512
7. 9f¢ E q«n Féwﬁamﬁ%ﬁqﬁsmpm):%wmm :%%, al P(E/F)
TS :
1 1
(A) s B) 3
2 7
© 3 (D) 5
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If vector a = 31 + 25 — k and vector b =1 —] + k then which of the

followmg 1s correct ?

%

@ allb

%
© 1 b l>] a |

mdxx;«r&01sequalto

_1x
A -1
© 1

B) 0
(D) 2

Which of the following is not a homogeneous function of x and y ?

A) y?—uy
©) sinz2X4+¥
X X

B) x-3y

(D) tanx-—secy

Iffx) =] x| + | x—1 |, then which of the following is correct ?
(A) f(x) 1s both continuous and differentiable, at x =0 and x=1
(B) f(x) 1s differentiable but not continuous, atx =0and x =1

(C) f(x) 1s continuous but not differentiable, at x=0and x =1

(D) f(x) is neither continuous nor differentiable, at x = 0 and x =

If A is a square matrix of order 2 such that det (A) = 4, then det (4 adj A)

is equal to :
(A) 16
(C) 256

(B) 64
(D) 512

3

If E and F are two independent events such that P(E) = %, P(F) = r then

P(E/F) is equal to :
(A)

(©)

Wl o+

Page 5 of 24
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8. e f(x) = x3— 3x+ 21 [0, 2] H U ST AR 2 ;
(A 0 (B) 2
C) 4 D) 5

1 -2 -1 —9
9. WA:{O 4 —1],Bz{—5]amc:[987]%,zﬁﬁmﬁﬁﬁ=rm

-3 2 1 —7
T B 2

(A) e AB (B) e AC

(C) et BA (D) @ft AB, AC a2 BA

1

x 1
10, 7 [ 2 ar=k 2% + C2, Ak
X

(A) 10‘g2 (B) -log 2
© -1 ®
11, R a+b+c=0,]a =37, b |=370| ¢ [=4,d b @ ¢
% oI HIH R
@ - ® 7
© 3 ®)

12. 3Tdhed GHIHWT (x + 2y°) j—y = 2y ST FHThA T[0T 2 :
X

y2 1
@A) e? (B) ——
Jy
1 _1
© = D) e ¥
y
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8.  The absolute maximum value of function f(x) = x® — 3x + 21in [0, 2] is :

A o B) 2
©) 4 D) 5
1 -2 -1 -2
9. LetA=|0 4 -1,B=|-5|, C=1[9 8 7], which of the following is
-3 2 1 -7
defined ?
(A) Only AB (B) Only AC
(C) Only BA (D) All AB, AC and BA
1
ox 1
10. If _[ — dx=k -2* + C, then k is equal to
X
(A) -1 B) -log 2
log 2 8
© -1 @ =
2

e g - - -
1. fa+b+c=0,]a | =437, b | =3and | ¢ | =4, then angle
- -
between b and c 1is

(A) B)

©) D)

wla o]a
ojla a3

12. The integrating factor of differential equation (x + 2y3) j—y =2y 18
X

Yz 1
(A) e? B) —
Jy
1 _1
© — @) e ¥
y
65/1/1 Page 7 of 24 P.T.O.
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7 0 x
13. AGA=|0 7 O] Th ACANEE g, al y* ST :
0 0 vy
A O B 1
<€ 7 D)y £7

14. e Wges TfE auen & e e % gErd & & S I (2, 72), (15, 20)
31N (40, 15) 8 1 912 Z = 18x + 9y 35! 3¢9 oM &, dl
(A)  Z (2, 72) W AT=had, T (15, 20) T =IIqH BT |
(B) Z (15, 20) W 3Aferehan, T (40, 15) T =FaH BRT |
(C) Z (40, 15) W 3Afeehad, T (15, 20) T =IIqH I |
(D) Z (40, 15) W Afereham, qT (2, 72) W =LTH BT |

15. Ife AUl B geshHolt 3Tegg &, dl e 4 8 s A wei T8 2 ?

(A) A+B)yl=B1l+Al (B) (AB)!=B1A"1
(C) adjA)=1]A|Al D) |A|7T=]A1]

16. U Rash T uet, f9Eet 3899 %o Z = ax + by 8, &1 AT & Th TNag &
g, afmdasRaadia?
(A) 3T hact ITferhad A BT |
(B) 39l ohelcT =IdH HHE BT |
(C) 39k JATUha YT =AW GHI HH & |
(D) 9T A a1 3Aferhad 3R 7 & =IFa" 7 80 |

17. Tk y2 =x, x = 4 qUT x-3787 o S o DSHAT(hd &5 ol & Jed & :

. o
g e
o e,
] R
S
s
.!'-. I g i
]
4 ) 2
@) [xdx ® [y?dy
0 0
4 4
© 2[Vx dx D [Vx dx
0 0
65/1/1 Page 8 of 24
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7 0 «x
13. IfA=|0 7 0] 1sa scalar matrix, then y* is equal to
0 0 vy
A 0 B 1
C) 7 D) =7

14. The corner points of the feasible region in graphical representation of a
L.P.P. are (2, 72), (15, 20) and (40, 15). If Z = 18x + 9y be the objective
function, then
(A) Zis maximum at (2, 72), minimum at (15, 20)

(B) Z is maximum at (15, 20) minimum at (40, 15)
(C) Zis maximum at (40, 15), minimum at (15, 20)
(D) Zis maximum at (40, 15), minimum at (2, 72)

15. If A and B are invertible matrices, then which of the following is not correct ?
A A+B1=B1l+A1 (B) (AB)"l=B1Al
(C) adj(A)=]A|A? D) |A|7T=]A1]|

16. If the feasible region of a linear programming problem with objective
function Z = ax + by, is bounded, then which of the following is correct ?
(A) It will only have a maximum value.
(B) It will only have a minimum value.
(C) It will have both maximum and minimum values.
(D) It will have neither maximum nor minimum value.

17. The area of the shaded region bounded by the curves y% = x, x = 4 and the
x-axis 18 given by

. o
o
; =
NN
._l'- | = | i [
S
4 ) 2
@) [xdx ® [y?dy
0 0
4 4
(C) 2jJ¥dx (D) j«/de
0 0
65/1/1 Page 9 of 24 P.T.O.
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18. T Freniuiida ®ed o1 U f T 7 | f1 § & I |1 6ok SoRH W UTH ol Sardl

19.

27

1
(A) ® /

© (D)

AR — Teh IMETia T
& : woa T 19 3R 20 JRERYA (A) 3R dh (R) emia 997 8, Tcdeh 99 i 1 70
2 1 Qe feu | F5H T ol Sifiene (A) 9T g 1 de (R) R 3ifeRd foRm e 7 |
AT & T I AR R iEt (A), (B), (C) 317 (D) # & g G |
(A) <M, JANTHA (A) TUT b (R) &l & | Toh (R), ANTHUA (A) hl T SATEAT Hidl
2l
(B) THI, AT (A) 91 b (R) W&l 8§ Wg o (R), AHAA (A) &t Tl =men
TRiHare |
(C) 3TMTReM (A) W & Tg T (R) T % |
(D) 3RFFLA (A) Teld & Seeh deh (R) F81 2 |

ARBYT (A)  : HET Z ORI 61 YT & | Th ®oid £ : Z — Z, I f(x) = 3x — 5,
Vx e 7 g IRl 8, Tehehl-3TTs1es® ¢ |
& (R) : I8 B S Uhehl & AT TT=0Ee Wl 8, Toheh!-3TT=01es 211 ¢ |
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18. The graph of a trigonometric function is as shown. Which of the following

will represent graph of its inverse ?
o

|
(A) @ /

© (D)

Assertion — Reason Based Questions

Direction : Question numbers 19 and 20 are Assertion (A) and Reason

(R) based questions carrying 1 mark each. Two statements are given, one

labelled Assertion (A) and other labelled Reason (R). Select the correct

answer from the options (A), (B), (C) and (D) as given below.

(A) Both Assertion (A) and Reason (R) are true and the Reason (R) is the
correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of the Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

19. Assertion (A) : Let Z be the set of integers. A function f : Z — Z defined
as f(x) = 3x — 5, Vx € Z is a bijective.
Reason (R) : A function is a bijective if it is both surjective and
injective.
65/1/1 Page 11 of 24 P.T.O.
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20.

21.

22.

23.

24.

25.

o 37 o

k——%ﬁﬁfQ x=5HWHAAZ |
T (R) : x—aqufw%qﬁ

0 ) = s f() = f(a)

T E-d
39 @UE H 5 31 oY -3 W & | Tk YA b 2 3 3 |

(a) 2008% X g7 cos2 x o HTUET 3Teeheld hifT |
AYET

(b) R tan (2 +y?) =a2d ? TR |
X

T T I : tan— {2 sin (2 cos ! g}]

5x2=10

@Wﬂ@ﬁaaﬂ%ﬁwaﬁaﬁﬁqﬁﬂ%ﬁﬁmﬁa—m—3+k6m

b=i+3]—kguhehas

9 37U [ HIfT H weq f(x)=5x% —ng () THAE® (i) BEEAHE R |

(a) QI o STERT- 7ot SHT | U ISTd §HA UTd 8 fob 3eh! T ohl S Teh G ol B
W S W AR 4 =31 + ] + 2k @b = 21 — 2] + 4kgw
frEfra o <1 aehan 2 | 78 wHa gu o il 3 wnig dier TE 2, 37 ot o i

1A HITT |

AYAT

(b) RE 21 3T 1 e Ay T A S aRw AR @ Rl R i 2 ot

A2, 1, 3)aaT B(8, -1, 0) & |

65/1/1 Page 12 of 24
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— <
20. Assertion (A) : f(x) = 3x—8, x<5b
2k , x>5

1s continuous at x =5 for k = g
Reason (R) : For a function f to be continuous at x = a,

A gy = L f() = f(a).

SECTION -B 5x2=10
This section comprises of 5 Very Short Answer (VSA) type questions of
2 marks each.
21. (a) Differentiate 2°°5°% w.r.t cos? x.
OR

() Iftan! (x% + y?) = a2, then find j—y
X

22. Evaluate : tan! {2 sin [2 cos ! gj]

- A A A
23. The diagonals of a parallelogram are given by a = 21 — j + k and
—> A A N
b =1 +3j — k. Find the area of the parallelogram.
3 5
24. Find the intervals in which function f(x) = 5x2 — 3x2 is (i) increasing (ii)

decreasing.

25. (a) Two friends while flying kites from different locations, find the
strings of their kites crossing each other. The strings can be

N A N A - A N A
represented by vectors a = 31 + j + 2k and b = 21 — 2j + 4k.
Determine the angle formed between the kite strings. Assume there
1s no slack in the strings.

OR
(b) Find a vector of magnitude 21 units in the direction opposite to that

—
of AB where A and B are the points A(2, 1, 3) and B(8, -1, 0)
respectively.

65/1/1 Page 13 of 24 P.T.O.
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Qug - T
T @UE H 6 Y ITUT T & | Th T o 3 37 & |

26. TS HETG Y h1 ST 3 cm/s I G H ¢ I & | 35 &AHe b 9G- ! G AT IS
S YT 15 cm & |

6x3=18

27. T g U™ THT 1 UTH AT B HITT ¢
=ER b x—y=>0
x—2y>-2

x>0,y>0
o AT Z = x + 2y T JRIHaHIHIOT AT |

28. (a) TG hIN : J-x+smx dx

1+cosx

AT

dx

b) TH IE HIT
) cos®x /2 sin 2x

o'—,,{;\;;

29. (a) WEREHRTRET =(1—1)i +(A—2)] +(3—20)k @

T = (u+ 1)? +(2p—1)§ —Qu + 1)12%%@1%13%@3% | 31
7%k Sff=l shl =AaH gl T HINT |
YT
(b) T fohehe B T, Tiga, faehe hImX 3R oI feera & weres 1 feufa we ufda 3

A > A A —> A A
H?JTB—21+83 W =61 +12j @ F =121 + 18] gRI %A: Ygd

2 | I8 T FTa HifoTe e ferehe Ao, et 3K o feeta & 87 =i fire
EINESCIRCECCARER ISR

65/1/1 Page 14 of 24
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26.

27.

28.

29.
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SECTION - C 6x3=18

This section comprises of 6 Short Answer (SA) type questions of 3 marks
each.

The side of an equilateral triangle is increasing at the rate of 3 cm/s. At
what rate its area increasing when the side of the triangle is 15 cm ?

Solve the following linear programming problem graphically :
Maximise Z = x + 2y
Subject to the constraints :

x—y2>0

x—2y >-2

x>0,y>0

(a) Find: j ’l”sﬂ dx
+ COS X

OR

dx
cos’x V2 sin 2x

(b) Evaluate:

O a3

(a) Verify that lines given by ? =1 - k)/i\ + (A — 2)3 + (3 — 27»)1/; and

? =(u+ 1)? + (2u — 1)3 - (2p + 1)1A< are skew lines. Hence, find
shortest distance between the lines.
OR
(b) During a cricket match, the position of the bowler, the wicket keeper

—> A A
and the leg slip fielder are in a line given by B = 21 + 87,

—> A A —> A A . .
W =61 +12j and F =121 + 18j respectively. Calculate the ratio

in which the wicketkeeper divides the line segment joining the
bowler and the leg slip fielder.

Page 15 of 24 P.T.O.
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30. (a) foreht wifvam, uss wherm o ferenfeoat <t srquferta i e 1 wifepar s i fezn
TR

X 0 | 2 4 | 5

PX) | p [ 2p | 3p | p
STET X, STaferd @ aret frenfia S s g |
(i) p T HME A HINT | 1
(i) wfER = SufRr & T feenfat < ween &1 arer Ja hifse | 2

ryar

(b) THER w1 ¥ fasmiuq ffeqa & faw 3000 s=fieari 7 3rmeed faw | g tfehel &
ﬁww%waﬁaﬁﬁwgwmﬁwsﬁgwéﬁﬁ%
foru == ferfga wdfierr gy femam TR | STTAERAte W WeH § Hohd fHrerar § fob
foTRea wiiem § wsh 9N o TIfTE 37 WTed A <hl TRkl 0.4 8, TUT Aigal

ferf3re 3o STe s <hl STRIAT 0.35 & | TTfiehell ST shifSY, foh ATg=ean AT T
Araeeh, ferflga when @ faf¥re s T A I B |

31. y=| x+3 | ol UT% SHIST aAT THTH b AN H sk qAT x-378T o S b 3T &5 hl
She A HIC A x = -6 TAMx =0 AT HE |

Qg -g 4x5=20
T TS H 4 TH-STT I E | Thh T 6 5 3Th 2 |

2
32. (@) AA1-x? +y1-y? =a<x—y>%,ﬁ%@aﬁﬁnﬁ5?: -
X

1—x2 .
G

(b) Iex=a (c0s9+logtangjﬁﬁﬂy=sin G%Rﬁﬂ Z‘T{d— 3Td ShifeTu |

33. ®eM f(x) = 23 — 1542 + 36x + 1 [1, 5] § TRust I=aaqm a1 FLuet =Haw o A

ST |

65/1/1 Page 16 of 24
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30. (a) The probability distribution for the number of students being absent
in a class on a Saturday is as follows :

X 0 2 4 5
PX) | p | 2p | 3p | D

Where X is the number of students absent.

(1) Calculate p. 1
(11) Calculate the mean of the number of absent students on
Saturday. 2
OR

(b) For the vacancy advertised in the newspaper, 3000 candidates
submitted their applications. From the data it was revealed that two
third of the total applicants were females and other were males. The
selection for the job was done through a written test. The
performance of the applicants indicates that the probability of a male
getting a distinction in written test is 0.4 and that a female getting a
distinction is 0.35. Find the probability that the candidate chosen at
random will have a distinction in the written test.

31. Sketch the graph of y = | x + 3 | and find the area of the region enclosed
by the curve, x-axis, between x = —6 and x = 0, using integration.

SECTION -D 4x5=20
This section comprises of 4 Long Answer (LA) type questions of 5 marks
each.
2
32. (a) If \/1—x2 + \/1— y2 = a(x —y), then prove that ﬂ: 1-y .
dx 1- %2
OR
_ 0 . i d2y o
(b) Ifx=a|cosO+logtan— | and y =sin 6, then find —= at 6 = —.
2 dxc? 4

33. Find the absolute maximum and absolute minimum of

function f(x) = 2x3 — 15x2 + 36x + 1 on [1, 5].

65/1/1 Page 17 of 24 P.T.O.
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34. (a) %@T ; . 2ﬁ1%|gA(1 6, 3) 1 Sfdfei A' 7 hIfv | feigaii A e

A'aﬁﬁaﬁmﬁ‘{@wwﬂw‘iﬁaﬁﬁﬁm
FUET

(b) %@1’“15 yl?’ 2~ 6 e o fig P B e fig Q(2, 4, ~1) &

gl 73RS A | PWQﬁﬁaﬁw%@weﬁwﬁmﬁﬁq |

35. U Thel 310 forenfeiet w1 e wrat o @1 o aetell § STrefed S 9redt § - @, T

I ATEH :

o WA TS o TR I TN, T qAT TICh FIS] o (SRNAAT hl T &
INTHA o THH & |

o T FoTe o Teremfiat <t T, Ot Fore o formnfiE < T & e g 20 it
il

o I I ForEl 1 Srrafed T i o1 W@ 180 7 |

Afeens faftr gr Tl werel 0 smafea foenfa 6 wren 0 Hifs |

Qe -

TH WUE § 3 Toh{UT STLII ITYTA T & | Teioh 9 h 4 37h 3 | 3x4=12

36. [

Teh Sfoehet SHFIT STIATSRR R U1 o491 i 8 | 572 ©d W o o fofe 38 919 300
ez diur X o 6wl R | 39 % feSrea § ue dige & g fawrs 2 S e 5
Sl 9T H Sieal 8 | AT fI9S o Sead aTeft ol 6l TaT8 x Hiet qT 35 THIR aTef!
Y71 h1 IelTg y HieT @ |
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34. (a) Find the image A' of the point A(1, 6, 3) in the line %:y_—lz

Also, find the equation of the line joining A and A'.

OR
. . . x+5 y+3 z-6 . .
(b) Find a point P on the line = 1 = 5 such that its distance
from point Q(2, 4, —1) is 7 units. Also, find the equation of line joining

P and Q.

35. A school wants to allocate students into three clubs : Sports, Music and
Drama, under following conditions :
. The number of students in Sports club should be equal to the sum of
the number of students in Music and Drama club.
. The number of students in Music club should be 20 more than half
the number of students in Sports club.

. The total number of students to be allocated in all three clubs are
180.

Find the number of students allocated to different clubs, using matrix
method.

SECTION - E
This section comprises of 3 case study based questions of 4 marks each.
3x4=12

36.

A technical company is designing a rectangular solar panel installation on
a roof using 300 metres of boundary material. The design includes a
partition running parallel to one of the sides dividing the area (roof) into
two sections.

Let the length of the side perpendicular to the partition be x metres and
with parallel to the partition be y metres.
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Based on this information, answer the following questions :

(1) Write the equation for the total boundary material used in the
boundary and parallel to the partition in terms of x and y. 1

(1) Write the area of the solar panel as a function of x. 1

(111) (a) Find the critical points of the area function. Use second
derivative test to determine critical points at the maximum
area. Also, find the maximum area. 2

OR

(1) (b) Using first derivative test, calculate the maximum area the
company can enclose with the 300 metres of boundary material,
considering the parallel partition. 2

37. A class-room teacher is keen to assess the learning of her students the
concept of “relations” taught to them. She writes the following five
relations each defined on the set A ={1, 2, 3} :

R, =12, 3), (3, 2);

R, =11, 2), (1, 3), (3, 2);

R;=1(1,2), 2,1, 4, 1

R,={1, 1), (1, 2), 3, 3), 2, 2);
R;=1(1,1),(1,2),(3,3),(2,2),2,1,2,3),3,2)

The students are asked to answer the following questions about the above
relations :

(1) Identify the relation which is reflexive, transitive but not symmetric.

(11) Identify the relation which is reflexive and symmetric but not
transitive.

(111) (a) Identify the relations which are symmetric but neither reflexive
nor transitive.

OR
(i11) (b) What pairs should be added to the relation R, to make it an

equivalence relation ?

65/1/1 Page 21 of 24 P.T.O.




38.

65/1/1
L

Teh S 3T UTEeh! bl T TehR o AT T KU1 IUcTed hidT &, oF foh fherg
A ot 3R ftuse X | 9 o e siihsi & e A @ o ek fhas g, welifen o
1 INTT G R AN 10%, 20% IR 70% JTTIehaT o | 0T I HI & | 707 H
H1E TTgh VT T YTAT L Tehdl & IT R FebH T geh ot T Tehdll § | 5 o ATh] &
T AT & fob Toherg 12, Telfen 1¢ 31 aftuset 1 W /0T oF o 91e fohH =afaa gry kot
A TR < i shi TTRIehdl ShAST: 5%, 3% 3T 1% % |

IR o IR T 77 & I A

(i) R T % STG Uh UTE o 0T FobT- H Feh i hl I AT & ?
(i) T TTEh RN o o F1G FobH § b hLdl & | T JTRIehdT & foh 36+ ANwset &

ST 9T 3RT fora & 2

Page 22 of 24




38.

A bank offers loan to its customers on different types of interest namely,
fixed rate, floating rate and variable rate. From the past data with the
bank, it i1s known that a customer avails loan on fixed rate, floating rate
or variable rate with probabilities 10%, 20% and 70% respectively. A
customer after availing loan can pay the loan or default on loan
repayment. The bank data suggests that the probability that a person
defaults on loan after availing it at fixed rate, floating rate and variable

rate 1s 5%, 3% and 1% respectively.
Based on the above information, answer the following :

(1) What is the probability that a customer after availing the loan will

default on the loan repayment ?

(11) A customer after availing the loan, defaults on loan repayment.
What is the probability that he availed the loan at a variable rate of

Iinterest ?
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